N = 65 N = 66 N = 67

65 circles inacircle 66 circles inacircle 67 circles inacircle

radius = 0.430761577072  densi
tio = 2321469818172  contacts

SEsm radius = 0430225417155  density = 0.883717365705 DEsm radius = 0.428776519103  density = 0.880519103519 DEm
tio = 2.324362904018  contacts = 112 ratio = 2332217263416  contacts = 94

N = 68 N =70

68 circles inacircle

radius = 0.428397160759  density = 0.881660605345 fesmn radius = 0.427150718246  density = 0.879181914642
tio = 2.334282510714  contacts = 100 - =

N=71 N =72

71 circles inacircle 72 circles inacircle

radius =  0.425860637931

DEsm radius = 0.425745315995  dens| =0
tio = 2.348186028315 contacts = 111 1

tio = 2348822083137 contacts

radius = 0.426032716941  density = 0.884742237371 DEm
tio = 2.347237571753  contacts = 11

=76

76 circles in acircle




